]jlzi6ls/0f tiinsf

;do | @ 306f 1$ Idgp KUf8s | &%
ljifo | clgjfo{:jf:Yo hg;&Vof tyf jftfj/0f IzIff pTtlfffs | 0$
JE;= | Psf0 1fg affy kpfii hodf | kf7b
kg | ef/
I hg;2Vosl ! ! ! ! % @%
0- ulf:t/lo hijg ! ! 0 &
# gkinsf] jftfj/0flo Lylt ! ! ! ! $ 1>
$- hljs [jljwtf ! ! ! $ I(
0= hg;&Vof jftfj/0f / 1jsf; ! ! ! # 1$
A /T, kiifof, wtikfg, nfukbfy 1|1 ! $ 14
&= ;fdbflso :jf:Yo ! ] ] # 1$
hodf kEg ;2Vof $ | % | # | & | # % | 10)

kpgx?sflkit/, kifffs / ;do ljefhg
;Wuflcts k/Uffsf nflu to ul/PsflkEg 1jt/0f tiinsfcg;/ kEgxe sflket/, kifffs / ;do |jefhg
Ig0gfg’;f/ ul/Psf]5 .

JF5= | KEgsflkt/ sfwglkkg | pTt/ Ingkg] | kOffES ;do
; 2Vof kEg ;3of
! clt ;alfkt pTt/ ) ) Dx!=1) @) Idgp
cfpg
0 5 pTt/ cfpg % % T x % = " 1% Idgp
sh | @% o# &% @ 306f 1%
ldgP
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:d

clgjfo{:jf:Yo hg;&Vof tyf jitfj/of IzIff
(Compulsory Health, Population & Environment)
Set-1

oI @ 306f 1% Idgh KOs | &%

DTS | 6$

;dX S (Group A)

clt 5f]pTt/ cfpg]kEgx¢, (Very short answer question)
0; ;dXaf6 ;a}kfgsf]pTt/ Ibgkff\. [10 x 1=10]

(Attempt all questions from this group)

0=

1):

hguOfgf ug{st}Pp6f [jlw nYgkf}\.

Write any one method of census.

In2u cgkft s;/L kTtf nuf0e5 <

How to calculate sex ratio?

hg ; &of 1zIffsflbl3§fnlg nlo s]xf]<

What is the long term goal of population education?
gkinsf]t/fo{kbk slt prfllar cjl:yt 5 <

Terai region of Nepal lies beween which altitude?

Jifp/0f ; Mi0f s;/L ug{;Ist5 < sh}Pp6f ;erfj logkff\.
How the environment can be conserved? Give any one suggestion.
gkinsf]sy efdflns kbk hljs Ijljwtfdf wgl 5 <

Which geographical region of Nepal is rich in biodiversity?
of ; flibafsflky?Tktbg st tl/sfnjug{;Ist5 <

In what ways yarsagumba (cordyceps) can be reproduced?
sg pbbfinf0{; 2ul7t pbdfli kig elgts <

Which industry is also called organized industry?

sg hLjfoth]kf7B/ Soft;/ u/fpb <

Which virus causes uterus cancer?

gkindf sf kkf/sf]:j:Yo ;Jf a9 kflnt 5 <

Which type of health service is practiced more in Nepal.

;dX v (Group B)

5f]pTt/ cfpg]KEgx¢, (Short answers quetions) [5x13=65]
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0; ;dxaf6 sg}!# kEgx¢ sflpTt/ nYgkff\. (Attempt any 13 questions from this
group)

1= hg;&Vof |jj/0f egkf]ls]xf]l< gkindf hg;&Vof [jj/0f ;dfg gxbsf sg}ri/
cfpf sf/0fx¢, pNnys ugkff\.
What is population distribution? Mention any four reasons of unequal population
distribution in Nepal. 1+4=5

16 180a Igisfzg rji / k?ifljn]s;/L heddf kefj k5{< 5fps/ldf Jofvof
ugkfg\.
How does ovulation cycle and verity affect to birth? Explain in brief. 2.5 + 2.5 =5

4= ctkifsiiklgs tyfs kpfp u/L sf]f dfob/ kTtf nufpgkf}\.
Calculate the crude death rate by using imaginary data. 1.5 +3.5=5

1$- zclzIff g}ol ulf:t/lo hijgsfldVo sf/0f xf].E kli6 ugkff\.
“Illiteracy is the main reason of low quality of life.” Justify. 5

1% kxf8L kpksflkfl/l:ylts kifinlsf dfgjlo Ijjofsnfkn]k/Ef]Itg cféf c;/ /
tofls/0fst shthOEMf pkfoxe, nYgkff\.
Enlist any three adverse effects on ecosystemof Hilly region due to human activities
and any two mitigation measures. 3+2=5

N tkfOfetkia; faf; ul//xgePsflefyfins kpksflefkts klifsf] ; 21fkdf jof§
ugkfg\.
Give a brief explanation of physical aspect of geographical region where you have
been living. 5

1& sy}b0{ctisf]l6rkofl. nygkff\.
Write short notes on any two. 2.5+2.5=5
ffepf3  chlau/ of ; fibaf
(Bengal Tiger) (Asiatic Rock Python) (YYarshagumba)

1*: gkindf Ps |;2u]uBfsf ;3Vof a9fpg s]sjugk5{ < ;2fkdf ofhgf
agfpgkf}\.
What should be done o increase the number of one horn rhinoceros in Nepal. Make a
short plan. 5

1(= hg;®of, Jitfj/0f / Ijst;lar ctt/;Datw b;Hgkif\.

Illustrate the inter-relation among population, environment and development. 5
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@)= Ibuf]ljsf; sflcywi/0inf0{s ; /L Jofjxfl/s kpflidf Nofpg ;IsS65 < st}kiF cfpf
pbix/0fx¢, kjtt ugkff\.
How can be the principles of sustainable development applied in practical use.
Present any five ways with examples. 5
@'= ;of/fu / g;of/fllar kiF kiE cfpf ki/s b; ok} \.
Show any five differences between communicable and non-communicable disease.
2.5+2.5=5
= vigidf kili6s tTTJ hflifpg]sytbz cfpf tl/sfx¢ sf]; ¥l agfpgkff\.
List any ten ways to preserve nutrient of food. 10x0.5=5
0#= wtikfg [j2blv hgrigf hufpg] SYIkfE cff gf/fxe, tof/ kigkft\.
Prepare any five slogans against smoking.5
0%- ;fdbflos :jf:Yosfki/efiff / sy}Pp6f ki :jf:Yo ;d:ofsflaofg ugkfp\.
Define community health problem and explain any one major health problem. 2+3=5
@%- gkindf ;fdbflos :jf:Yo ;d:of ;dfwfgdf c:ktfnsfleldsf k}6bfpgki}\.

Clarify the role of hospitals in solving the community health problem of Nepal. 5

()
>

gdyf kfgkq pTt/ slohsf
Setl

[jifo I :jf:Yo hg;3Vof tyf jitfj/0f |zIff
;dX s
kige+!- pTt/

'yfol a;faf; [jlw, jf:tljs pkl:ylt [jlwdio]st}Pp6f ny/flf  =====1 c@
kig+@- pTt/

In®u cgkft sh k?if ;2Vof ===zl c8%
kig=H: pTt/

ulf:t/lo hijg egl nj/gif ===zz] 9%
kig+$- pTt/

M) 1d6/blv A1) Id6/ lar egl nj/fif ! c@g
kigt%- pTt/

e"Pjd\hn ; Hf0f, kbifof Igobqof, kifkfl dif Joj:yfkgdiio]st}Pp6f nyilf

kig="- pTt/
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kSl kb egl njgif ===t g2

kig=+&= pTt/

(spore) Jf alhfofaf/f egl ny/if s N S
kjg=*: pTt/

7hflpbbfli egl nytif ===l A%
kig=(C pTt/

xbtg foflknffif efd/; (HPV) nyiif ====1 c3§
kig=+!): pTt/

pkfrf/fids :jf:Yo ;Jf egl ny/if ===! Cc%
kig+!1: pTt/

bisflefufinst agfj6, Ifflo |jefhg, kif;Igs Onfsf cflbsf ciwi/df s]slt

hg ; 2Vof kilnPsf]5 eg]ni/iif == 1 c8

w/fgnlo 1j¢k xfjtkfgl df6f] ;fk ;fwg, :jf:Yo IzIff, oftfoft ;~rf/, ;Jf ;|jwi,
/Thuf/L KEf cflbnfO{rf/ jiSodf nyif === $ c3&
kig=+10- pTt/
dixnfsf]l/h:jnf ;? ePblv ctt geP;dd ki7B/df /h:jnfsf]!$ Ibgdf c08
lgistzg ePsf] ;do zjisl6; & dh ePdfg ue{xt5 ebg]cfzo n/fif-=== (%
cas
; dfthdf k?ifsf] ;6tfg hedfpg ; s]k?JTjsTkgfof 7659\ cboyf pglx¢ n]ckdfg,
aPHht / g/fdf] 7ft5g\etg]cfzo nyfif === (% c@
kig1# pTt/
dliojif&f]lhg ; 2Vof
Ps jifg/l d/Bf ;&of |
sflf d[ob/ < ny/§if ===zl 8B
sflf dlob/ d[o' xpkf];&Vof == 1 c3s
Ix;fa u/l by/fPdf === (% C2B
kjg+1$- pTt/
clzlffin]l; k kit xBy, ta /fhuf/lsflcefj xt5, cflbfgl toy x5 / cfjZostf
k/f ug{g;Shf :jf:Yo ;d:of / cbo ;d:of bive5 ebg]ny/fif jf o:t}cfzo cipg]
ny/fif === Y c®p
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kig=+1%- pTt/
sif eldsf]clws kpfyi, ;Ldfct eldsflkpfy, Jg h&un adl kpfli, r/g Iffjgiz,

kis[ts :yfggfz egl sy}itg cfpf st/0f ny/f == # C%B
JIf 7ikof Pjd\jg ; Mf0f ug] r/gsf nflu 3fE /fkof tyf hnfwf/ ; H0f h:tf
sy }h0{cfpf pkfo nytf === CB

kige+1": pTt/
efbflns Ifysflgfd, o; tkbksflejofj6, prio xfjtkfgl, Iffjkin, df6f]cflb st}
kfF cfpf klfsflpnys u/gif === U 3%

kige+1&= pTt/
kJoksflkl/ro, af;:yfg, dxTTj, bhé xgsf st/0f / ; Mifof ug{pkfodio] ; aNfit
¢ kdf syh0{cfpf pkfox¢ sfljof§ u/fif == % c@s

kige+ 1*: pTt/
clloog cg’;6twig ug] vigk/t, af;:yfg kixrfg, hg;xeflutf, Igod sfgy lgdff,
;38 #yf; & ;xsfo{ug] hgrigf hufpg] sfofijd agfpglegl sg}% abf piny/
u/l nyfif==== % c3s

kig=-! (= pTt/
adbflhg;aVof dfu k/f ug{ jitfj/0f ; Mi0f, pTkfog jpw ;fk ;fwg plrt kpfl
ug] ljsfzn]g}thg;2@Vof Joj:yfkgdf ;xofli k¥ofpb, Isf; dflg;n]gius{/
Itg cfpfsf];6thg sfod xt5 egl nyiif jf o:t}cfzo cfpg]ni/gif

kigs+ 0)- pTt/
vigh jf cgjls/0folo ;fE sd vkt s|if eldsf]jlflgs kpfli, kis[ts ;ik.
;Mi0f, /;folgs dn sd kpfl [jifflo Igotaof, kpifof 1go0q0f cflb diio] sty}%
cfpf jfSodf nyfif === % c3s

kig+ @!- pTt/
soi/fu g;9{/fu
csflolStdf ;g] csflolstdf g; gJctkiFpTkeg
-2§1d0f tljiEf adl -2§1d0f Jofkstf sd
-1d hijaf6 ljljw st/0f, skifof
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lgsf]xy] sd ug{;Isg]
xhf, enf8f, ?3f, P8Y bd, Soft;/
ny/if jf o:t}ldNg]cbo pTt/ nylf === Y c9%
kig+ 0@ pTt/
vigf 5kl ksfpg] t/sf/L wib/ dfq sfeg] I3p, th, g d;nf sd /ig] vigfdf
;18f, /2, kbfp gug] rfdn wl}gkviNg]egl ny/fif jf o:t}cto IdNg]pTt/ nyiif

kig=H@#= pTt/
wilkfgn]InG5 Hofg, wikfg TofuffhLjg arfcffh:tf kfE cfpf gf/f n{/gf ===
% c®s
kjg+0$: pTt/
;dbfo /xEf]:Jf:Yo ;d:of kixrfg u/l ;diwfg ug{
JoIStnufot jftfj/0flo :jf:Yo ; Wi/ Nofpg]sfo{egl ni/Hif === () C3B
ul/al, skfffof, pRr dftfzzb/, :jf:Yo ;]Jf, I1zlffsf]sdl, hg;2Vof jplw
c:jf:-Yos/ hijg zhl, ;?jf /fh cflodio]Pp6f ;d:ofsf]5fpf]JofVof u/gif
== # C%
kig=H@%: pTt/
la/fdLnfO{pkrf/fids kltsf/flds, ;jw§flds ;Jf kbfg ug] ctt/2u / alx/2u
;31 /fbcg; 1/ Ihinf, c~rn tyf Iffllo slblo c:ktfn, cfi#, k|t ;Jf, sfotl
c:ktfn, cfoyh, IrisT;f ;Jf kbfg ug{:yn egl ny/§if jf o:t}cfzo cipg]
ny/{if ===l

c3s
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:d

clgjfof{:jf:Yo hg;aVof tyf jitfj/of 1zIff
(Compulsory Health, Population & Environment)
Set-2

o | @ 306f 1% Idgh KOFFfRSS | &

DTS | 6$

;d% S Group A

clQ 5fpf]pTt/fids kEgx¢, (Very short answer questions)
0; ;dXaf6 ;a}kfgsf]pTt/ logki}\.
Attempt all question from his group. [10 x 1= 10]

0=

(:

hedbtf{ug{sxfFhfgk5{<

Where have to go for birth registration?

Mli6e hfudfgf @)** cg’; 1/ gkinsflhg;2Vof jplwb/ !-#%% 5 eg]hg;aVof
bfla/ xf slt ;do nfi5 <

As per 2068 national census population group rate of Nepal is 1.35% .How long
does it take to double the population?

digj Ijsf; ;¥f@ssf sy}Pp6f ctwi/ nygkff\.

Write any one criteria of human development index.

kxf8L kbkdf sftnf agfP/ vil Isg ul/t5 <

Why is terrace farming practiced in hilly region?

Ixdfnl kbksflkil/l:yltsl toq ; Mff ug{sg}Ps pkfo nfgkif\.

Write any one measure to conserve the ecosystem of mountain region.
t/f0{kbkdf kfof]sg}Ps bhé kioflsflgfd nygkft\.

Name any one rare animal found in terai.

nff ;Nnfsf] ; Hf0f ug{st}Ps pkfo nygkf}\.

Write any one measure to conserve the himalayan yew.

clojl:yt ;x/ls/0f /ipyfdsf]Ps pkfo nygkff\.

Mention any one measure of unmanaged urbanization.

unfuff sty ;Td kfjfof tTTjsf]sf/0f nfib5 <

Which micro nutrient deficiency causes goiter?

- gkinsf]lsg}Ps kfiv :jf:Yo ;d:of n{gkif\.

Write any one major health problem of Nepal.
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;d% Vv GroupB

5f]pTt/fids kEgx¢!  Short answer question

0,

14

1$:

1%

IA-

1¢

[ *-

;dXaf6 sg}!# kEgxe sflpTt/ nYgkif\
Attempt any 13 question from this group. [5x13=65]

hg ; 2Vof 1] j/0f egkf]s]xf]< gkinsflhg;2Vof 1j j/0f c;dfg xysf rf/
sf/0fx¢, nYgkff\.
What is the meant by population distribution? Write the four cause behind the
unequal population distribution of Nepal. 1+4=5
olb sg};x/df @)&) ;fnsflctkjf;L ;3Vof 1)), pTkjf;L ;2Vof $)) /
diojit&flhg; ®of *)))) ePdf vf; a;f0F /{0 b/ / sh a;f0F /f0 b/ kTtf
nufpgkf}\.

If Immigrants, Emigrants and mid-year population of acity in 2070 B.S are 1000,400
and 60000 respectively .Calculate Net migration Rate (NRM) and Gross Migration
Rate (GMR). 5
d[ob/df kefj kig[stdrt/ tijxe, nyL bofcfbisf]5Ms/idf jof§ ugkf\.
List any four factors affecting death and explain two of them. 2+3=5
zdflg; sflulf: t/lo hljg 7fpF;do / cj:yfcg’;f/ kI/jt§ xt5 £ kli6 ugkfp\.
“Quality of life defers from time, place, and situation of people.” Justify. 5
tkiofetkna; fjf; uggPsflefpfins kbksflhlys kifsf]jof§ ugkip\.
Briefly explain on biological aspect of geographical region where you have been
living. 5
Ixdfnl kbsflkf/l:yits kffnLdf dfgjlo ljjofsntkn]k/Bflsy}tg c;/ /
To; sf]toyls/0ftst hO{cfpf pkfox¢, nYgkff\.
Enlist any three adverse effects on the mountain ecosystem invited by human
activities and any two mitigations. 3+2=5

I6KkOfL NYgXfE\.  (Write short note.) 2.5+2.5=5
héfd;L  (Spike Nard) Ps |;3u]uBf (One Horned Rhino)
his Ijljwtf ; Hflfsf nflu ckgfOg]sYkiE cfpf kefjst/L pkfox¢, nYgkff\.

Write any five effective measures adopted for biodiversity conservation. 5

= hg;xeflutfdf ctwfl/t Ijsf; Ibuf]xt5, Isg < k|6 kig&fp\.

Development sustain based on public participation how? Clarify. 5

= louf]lst; egpf]s]xf]< o;sf sg}ri/ |;bwittxs, piny ugkf;\.
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()
>

()
F=

0%

What is sustainable development? Write any four principle of sustainable
development. 1+4=5

I: xhf s;/L ;b < 0;sf sg}ri/ cfpf nlfiixe, nYgkp\.

How does cholera transmit? Write any four of its symptoms. 1+4=5

= jfy Hj/T/ jfy deffllar ks SBofpgkt\.

Differentiate between Rheumatic fever and Rheumatic heart disease. 5

= nfu’ cfiwsflshtdf k/Bf]tki0gf]glhssf] ; fylsf]pbWi/sf nflu s]s:tf]

pkfox¢, ckgfpg ;Sgkt5 < splkiE cfff pkfox¢e, nYgkip\.
Suggest any five effective ways to rescue your imitate friend fallen into drug
addiction. 5

= gkinsflkpiv :jf:Yo ;d:of ;dfwigdf ki/jf/sf]s]s:tf eldsix¢, xg ;S5g\<

SYIKIE cfpf pinys ugkff\.
What can be the role of family in solving the major health problems of Nepal?
Mention any five. 5

gkin Ifo/fli Igjf/0f ;2Bsflkl/ro nyl o;sf sg}tg cibf sfok¢ sf]5hs/Ldf
JofVof ugkff\.

Introduce Nepal Tuberculosis Association and explain brief three functions of it.
2+2=5

pTt/ slhhsf
Set 2

:jf:Yo, hg; &of tyf jitfj/0f I1zIff
kige+!- pTt/

uflj=;= jf gu/kiinst sfoffiodf nj/fif ===1 c2§
kig+@- pTt/

% *% Jif{jf %@ jif{nyf ==z | C3B
kig=H: pTt/

hedbfsflcklift ;/b/ cfo; I1zIff / k|tlolSt cfodlio]sg}Ps ny/fif ===I
c3s

kjge+$- prt/

eTfo Igo6gof ug{jf kix/f]/ffgdio] sg}Ps ny/fif === 1 c3s
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kig=%= pTt/

peglt r/0fsf]lgotgf h:tf sh}Ps nyfif === c3
kjg="= pTt/
ki6hi3, Ps |;au]ul, cof{jf cto shtbhé kiliisflgfd nyfif === 1 c3s
kige+&= pTt/
rf]lsf]lgotq0f, cfunful tyf jg ljgfzsf]igotgofdio]sg}Ps nytif
== 1 C%
kigs*: pTt/
ufdwof 1ffsf]lyst;, 1jsibls/of, ;fgflahf/sf]igotq0f h:tf sg}Ps nigif
=1c3
kig=(C: pTt/
cfofl8g nyfif === 1 c@
kig=+1): pTt/
; ?2Jf /fusfllotkstf, skif0f, pRr 1zz'd[ob/ jf cto ldNg]pTt/ ni/§if
===! Cc%
kige+!1: pTt/
sblglzrt efyfins tyf kif;lgs ;ldfleq 5I/P/ a:g]dflg; nfo{hg;2Vofsf]
[jt/0f elge5 . h:tf [dNbf]kl/efiff nj/iif == 1 C3

- Ixdfndf | cfjfbl sd xgsf sf/lfx¢, | [jifd w/ttn, zis xfjtkfgl, ;Jf / ;ljwisf]
sdl, cj;/x¢sf]sdl

- kxf8df I dw/f]xfytkigl, le/infleagf, skl dfgfdf pAhfp, sd ;Ijwisf]pknAwtf

- U/M0ff I ;dtn eefu, ;§f / ;ljwisflpkniwtf, viloflo hidg, pbbfii tyf sn

sf/vigf h:tf st/of nj/f == $ c%
kig+!10- pTt/

cfkf;L ;2Vof 1))

pTkf;L ;3Vof $))

dliojifflhg ; 2Vof "))
vf; a;f0F /f0 b/ <
sh a;f0F /f0 b/ <
s4cgs
vi; a;f0R/f0 b/ = cikff;l ;2Vof - pTkjf;L ;2Vof x!1)))
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diojif&flhg ; 2¥of

=1)) -$)) x1)))

M))
="))
)

Vif; a;fOR/f0 b/ 1) Kitxhi/ npif === @ ca%
ki, sh a;f0R/f0 b/ = cikjf;L ;2Vof + plkjfsl ;2Vof  x1)))

diojif&flhg; aof

=D))+$) xN))
"))
= 1%))
N
sh a;f0F /f0 b/ = @### kltxhf/ nj/Hf == [ c%6
kig1# pTt/
dlob/df kefj kfg]tTTjx¢,

- jzfgjid - In®u - INsEf]pd] - /fl

- GoY kfjfof -t/ - :jf:Yo ;Jf / ;ljwisflcefjdio]st}rf/ nyfif =@ c®s
kjg+1$- pTt/
ulf:t/lo hijg dflgPsflhLyg kbwlt xf]. t;y{;dfhsf]:t/, ;do, ;the{bksf]
cflys tyf efts ;Gbe{/ dflg;sf] ORSf / rixfgf ki/s ki/s xt5g\To;h]
dflg; sfludf:t/lo hijg kig ki/s ki/s xt5 etg]ctwi/;Ixt kli6 u/gif

kig=+1%- pTt/
Ixdfnl, kxf8L / t/f0{kbkdio]st}Pssflhljs kif -jg:kIt, hijh6t; vilkftl

/ kG5Lx¢, ;dpL Jof§ u/gif - == % c¥%
kigs1"- pTt/
jg ljgfz, etfo, 3fE]dbfgsf]ljofz, kjEf/fklaf/f kpifof jf o:t}cto c;/x¢
n}/]jf === c2%

tofLs/0fst pkfoxe,, h:t) JIf /fkof, rf]L |; sfilsf]/fpyfd ;/;kif0 h:tf
ldNg]bO{cfpf nyfif  ===# c®6
kigs1&: pTt/
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- hefd ;L kiOg]:yfg pkoflutf, bhe{xysf sf/lfx¢, / ;MHflfst pkio ny/if

- Ps |;2u]uBt kiog] 7fpFzf/U/s Jofj6, ;Alft Ify, vigf, rf]l |; sf/lsf sf/of /
; Hi0fst pkfox¢, nj/gif ==(% cs
kige+!*: pTt/
k[ok efhflns kbksflhys Ijljwtisf]1fg, :yfglo JolStsfleldsfdf clejplw,
kefjst/l ofhgf thiif wild§ tyf ;fis[ts dxTTjsf aff [a?jf / kzkIflsf]
; Hi0f, [jbbdfg sfghsflkpfi Jf o:t}HdNg]pTt/ nyiif ==% c3s
kig=-! (= pTt/
hg; xeflutfdf cfwfl/t 1jsf; n]I56fbI/tf] ulf:t/lo ; M0t Pj+; §wf, pTt/
bfloTysf]jflv, ckgTjsflefjgf, bl3&inlg ;yf0, jsf; sl ;Ldf Igw{0f, :yfglo
Tk / ;fwgsf] ; dirt kpfli cflb xg]ePsfn]jf cto o:t}HdNg]pTt/ nyiif
=l C¥%
kig=+0)- pTt/
bl3&fnlg ;fyf0st ;fy louf]/ l6stp, eflnsf ;6tltsf nflu ;dE /xgu/l /
Jtfifg cfjzostf k/f xgJu/l ul/g]lysf; glbuf]lljsf; xflegl nyiif ===1 c3s
Ibuf]ljsf; sf |; bwfetxe, |
kfl/l:ylts kiffnLsf]; Mfof, ;dfhsfllbuf]ljsf; hljs [jljwtfsf]; MfOf,
hg ; 2Vof Igo6q0f dfgjlo ;fksf]ljsf;, hg;xeflutfdf jpw, ;fis[ts ;Dkbf
;Hi0f / K[jlsf]jxg Ifdtfsf] ;Ldfleq /xgfiio]st}ri/ |; bwict ny/gif

== $ C%
kig=+@!- pTt/
xhf lelapflsn]f (vibrio cholera) gfds hLjf0fsf] ; 2yjd0fsf sf/0f kblift vigf
tyf kfglsf]ldfiodaf6 ;bd egl ni/if == 1 %

0; sf nlfifx¢,
-a9l ltvi{nflg' -lk;fa sd nflg] -cfi# uf8y] -wlikés kftnf]lb;f
xg] -5fnf rfpl/g] - /Strik sd xg]== dlo] rf/ cfpf n}/fif =% c3

kig=00= pTt/
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1ty Hi/f] Jfy d&'/fl

SL6f0f' (beta Hemolitic Streptoccus SL6f0f' (beta Hemolitic Streptoccus Group-A)
Group-A) sf]sf/0f ;?sflcy:yf xf]. | sflhlén ;2y{d0fsf]lcy:yf xi].

$ blv 1% jifsf afn aflnsfdf adl oflojf ojltx¢ df kig bjwves .
bives .

3f6t tyf hipke bVglubb . 3f6t 616;n tyf Zjf; / vigf gnldf udel/
;d:of bives .

lagf pkrf/ Hj/f]sd xg]/ kyl cfpg] | desf]df+kil / eNaxe,df udel/ Ifit k¥ofps
ubb .

h:tf IdNg] sh}kfF ki/s 56bfPdf ===l %%

kig=0# pTt/
;fylnfO{nfu’ cfifwsf]c; /af/] ; rk u/fpg] vihsh tyf dgfl~hgflds sfolf
;g /xy, kil/jfl/s /idf] ;Dabw sfod ug{ nfu' cfiwsflkpfilL / cf} f/k; 1/
u/tlf s8f sfghl sf/afxl xghf/]hfgst/L u/fpglh:tf % cfpf abi nj/if

kig=H@%: pTt/
kil/jf/sf ;b:ox¢ lar /fdf] ; ast/sf]ljsf; ug];dfhdf /fdf]eldsf viig
clekl/t ug{lzz' tyf ueftix¢ sf]:ofxi/df liofg Ibg)] ;/;kif0 / dixnf |zIffdf
hiB Ibg]h:tf kiF cfbf abixe, nyilf === U C%

kig=H@%: pTt/
gkin Ifo/fli Igjf/0f ;28sf]:yfkgf IdIt / pbbfo nyl JofVof u/fif == @ c®s
Ifo/fl nfulsf JoIStsflkixrfgaf/] ; rk u/fpg] al=;L=hl= vk Ibg] tfind ;Datwl
sfo{ug]ltg abf ny/L JofVof u/§if === OB
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;do

clgjfof{:jf:Yo hg;aVof tyf jitfj/of 1zIff
(Compulsory Health, Population & Environment)
Set -3

1 0 306f 14 Idg KOs | &%

DTS | 6$

;dx 's' (Group 'AY)

clt %f~f pTt< cfpg kZgx¢ (Very short answer questions) [1x10=10]

o;

1.

;dxaf™ ;a kZgsf pTt< lbgxf; I (Attempt all questions from this group)

hgu)fgf 2068 cg;f< gkfnsf t<f0 kbzdf slt kltzt hg;&Vof
a;faf; ub%g €

(What percentage of population of Nepal live in Terai according to 2068 Census ? )
sf<f h6édb< s;<l dfkg ul<t% € e;q nVgxf; )

(How is crude birth rate caluclated ? State the formula.)

;fs dnsdiio ;aetbf a(l dfgj Ijsf; :rfsf®s ePsf dns sg

xf €

(Which SAARC country has the highest HDI ?)

t<f0 kbzsf sg 1 dxITj Kk)f ;f:islts kjsf gfd nvgxf; |

(Name any one culytural festival celebrated in the Terai region.)

Ixdfnl eudf <xsf clt rikr)fsf ;d:of sd ug sg Ps pkfo
k:tt ugxf; |

(Present any one way of minimising the effect of over grazing in the himalayan
belt.)

xfasf ?lrs< vigf s xf €

(What is the faourite food for Red Panda ?)

h~fd ;lsf sg Ps pkoflutf nvgxf; |

(Write any one usefulness of Spike Nard)

a”™Nof6S cfofu slxn u&g ePsf lyof €

(When was the 'Brundt Land Commission' formulated ?)

I;<fl; ; s sf)fn xt% €
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10.

(What cause cirhasis ?)
kf&#<sf dvsf Sof6;< sg efO<;sf sfi)fn ubf nfub% €
(Which virus causes the cervical cancer ?)

;dx 'v'(Group 'B")

%N pTt< cfpg kZgxe (short answer questions) [5x13=65]

o;

;dxaf* sg 13 cf™M kZgxe sf pTt< lbgxf; I (Attempt any 13 questions

from this group)

11.

12.

13.

14.

15.

16.

hg;faIVosL egsf s xf € IjZjsf hg;=Vofsf Lylt pNnv ugxf; |
(Define 'Demography' and state the world population situation.) 1+4=5
gkfnsf sg ;x<sf 2068 ;fnsf sn hg;&Vof 150000 Ilyof | pSt

;x<df pSt jif 1000 dflg;sf dlo eof 2000 dflg; a;fo” ;<fo
u<l cfo < 1200 dflg; a;fo’;<fo u<l c6oqg uP eg pSt ;x<sf

sf<f dlob< < vf; a;fo’b< KkTtf nufpgxf; |

(A town of Nepal had 150000 population in 2068 B.S. During the year 1000 person
died, 2000 entered over there and 1200 migrated to other area , Now calculate
Crude Birth Rate and Net Migration Rate 2.5+2.5=5

a;f0" ;<fonfo kefj kfg rf< tTjxe nvl bosf %frs<df  j)fg
ugxf; | (2+3=5)

(Mention any four factors affecting migration and explain any two of them in
brief.) 2+3=5

geflts ;v ;onn dfg u)fit<lo hljg kikKt ug ;Isbggk Kkli®
ugxf; |

(Quality of Life cann't be achieved only through the physical facilities.) Jusify. 5
tkf0“ cfki ajfaf; u<l <xgePsf efuflns kbzsf ;fdflhs tyf
cflys klfsf %~ j)fg ugxf; |

(Explain social economic aspect of geographical region where you have been
Living. 5

t<f0 kbzsf kflkl:ylts Kk)ffnldf dfgjlo Ijmofsnfkn Itg cf~f c;< <
To;sf Gogls<)fsf sg b0 cirf pkfoxe nvVgxf; |
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17.

18.

19.

20.

21.

22.

(Make a list of any three adverse effect on the Terai ecosystem caused by human
activities and any two mitigation. 3+2=5

sg b0 cMsft IMKK)L nvgxf; |
(Write short note on any two) 2.5+2.5=5

a. chLau<(Asiatic Rock Python) b. xfTel (Asiatic Elephant)

c. kfrcfn (Panch Aunle)

hijs Ijljwtfdf k<sf kltsn c;< sd ug sg kG crf pkfox¢,
nvgxf; |

(Write any five effective measures adopted for mitigating the adverse effects seen
on biodiversity.) 5

;X<Ils<)f egsf s xf € clojl:iyt ;;x<Is<)fn jfefj<)fdf ki<sf sg
rf< cfAf kltsn c;< nvgxf; |

(What is meant by urbanization? Write any four negative effec ts created by
unmanaged urbanization.) 1+4=5

kYjlsf tfkjnd Ibg kltlbg a(b hfbf Jfefj<)fdf kltsn c;< k<sf
%, o0; c;<nf0 Golgs<)f s;<l ug ;Ist% I sg 5 j»nf pkfo
nvgxf; |

(As the atmospheric temperature goes up, adver se effects have been seen in
environment. Suggest any five methods, how it can be reduced ?) 5

cfp s;<l ;b% € o;sf sg ric cf nIf)f < o;af® aRg sg ric
ci™M pkfoxe, nvgxf; |

How does dysentery transmit ? Write any four of its symptems and four preventive
measure.  1+2+2=5

kiks %™ofpgxf; I esg bOsf dfq)
Differentiate between (any two) 2.5+2.5=5
s. wdkfg < dWokfg (Smokingand Alcoholism)

v. unufS < <St cNktf (Goiytre and Anaemia)

u. Prcfoel < PS; (HIVand AIDS)
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23.

24,

25.

Sof6;< <fuafr ;<IIft <xgsf nflu ug ;Isg sg kfr cf kof;xe
nvgxf; |

(Write any five attempts to be safe from cancer disease.) 5

gkfnsf kdv :jf:Yo ;d:of ;dfwfgdf ;dbfosf eldsfx¢ s s Xg
;S%g € pNnv ugxf; 115

(What can be the roles of community in solving the major health problems of Nepal
? 5

gkfn ki<jf< Igofhg ;2#sf ki<ro Ib0 o;sf sg ltg ci™f sfoxe,
pNnv  ugxf; |

(Introduce 'Family Planning Association of Nepal' and state any three of its
functions.) 2+3=5

pTt< slthsf
[jifo Y :jf:Yo hg;avof tyf jftfij<)f IzIff
Set 3

50.27% NVAF oo 1 c®s Ibg

sg jifdf hedsf hljt lzzxesf ;&Vof nvdf .1 c®&s Ibg

To; Jifsf dWolt<sf hg;2of x 1000
>lNast nvdf . 1 c®s Ibg
xfnl, %&, Ob Jf cG6o sg IdNg pTt< nvdf ... 1 c®s Ibg
IJsl;t #f;x¢ <fk<, r<gnf0 Jojl:yt u<<, JsiNks pkfosf wvfhl
h:tf si)f nvdf ... 1 c®s Ibg
af;Sf N of NVAl 1 c®s Ibg
%f< <fusf pkrif<, d™ <fusf pkrf< jf ;ulowt wk agfpg h:tf sg

Pp~f pkofu nvdf ===== 1 c2s Ibg
50 1983 NVAF i 1 c3s Ibg
cTolws dbokfg NVAf ... 1 c®s Ibg



10.xodg Koflknfdf efO<; nwvdf ..o, 1 c®s Ibg

11. hg;flVoslst kl<efiff nvdf ..., 1 c®s Ibg
kyjldf dfgjfiklTt ePsf 30 nfv jif hlt eof | |h;; jifo:~rsf héd
tfsfsf hg;&Vof, ki<lDes slif oult<sf hg;&Vof, ;g 1650 blv dvVo

dvo Idltsf hg;&Vof 6 casf Ibg;Ixt pNnv u<df ... 4 c2s Ibg
12. oxf,
hg;&vof (P) = 150000
dTio ePsf ;&vof (D) = 1000
ctkjf;L ;3&Vof (1) = 2000
pTkjf;L ;&Vof (E) = 1200
sf<f dlob< (CDR) = ?
;qcg;f<,
a2 111 1 c@s Ibg
= Tacar X 1000
= 88608 KIE Xhi< e, 25 c2s Ibg
kil<,
NMR = == %1000
= 2 X100 e 1 c@s Ibg
=533 Kt xhf< ., 25 c2s Ihg

(PsfO gnvdf 0.5 #"Mpg )

13. a;f0" ;<fodf kefj kfg tTTjx¢
pd<, In2u, kiljflks Lylt, k;f nvdf ..., 2 c®s Ibg
sg b0 ciMst %M J)fg u<df e 3 c@s Ibg
14.u)f:t<lo hljg sg klg ;dfhsf ;Eotf, ;:slt, k<Dk<f dNo dfcotf <

;isf<af<f Igblzt x6% h;n ubf hijg kbwlt < cfjZostfx¢, ki<s
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kiks < yk #™ x6%g | hljg kbwltcg;f< ;v < ;6tlinsf cfwi< t<
klg kiks x6% I t;y eflts ;v ;ljwf < pknlAw dfgn u)f:t<lo
hijg kfkt ug ;Isbg egl nvdf 5 c2s Ihg

15. Ixdfnl, kxfSL < t<f0 kbzdWo sg Pssf cflys ;dflhs klfsf j)fg
u<df tk;f, cflys Ijiofsnfk, ;fdflhs ;<rgf, ux Igdff, hiyg Igjfx
cflosf afdf) ........ 5 c2s Ihg

16. yg Ijofz, elfo, #f; dbfgsf Ijgfz, dirfst pj<f  zIStdf xf;,
clojliyt ;x<Is<)f, ofhgf IjIxg cfboflus ki<rfng jf o:t gsifids
glthfst %f~f Jofvof u<df ... 3 c@s Ibg
bogls<)fsf sg b0 pkfo nvdf ..., 2 c@s Ibg |

17. hgfj<sf xsdf - ki0g &fp, zfllks agfj”, ;<lift hgfj<, vigf, ril
I;silsf si)f h:tf s<fx¢g nvdf.......... 25 c2s Ihg
Jo:kltsf xsdf - kfOg &fp, pkoflutf, bne xgsf si)f < ;<If)fsf
pkfo nvdf ... 25 c2s Ihg

18.kflkl:ylts K)ffnldf xf;, af;:yfgsf |jgfz, jg:kltsf Ij:tidf sdl,
Jt6g #dlk<df ck<fw, jg Ifgsf cltjid)f, IhdDdjf<lsf cgelt gxg
Jf c6o pkoSt pTt< nvdf .....ccoovviiiiinnenn. 5 c®s Ibg

19.1jleGg ;jf ;;wf, ahf<ls<)f < wgf cfjfbl ;Ixtsf |j:tfl<t kjfwi<
oSt >q lgdhHf xg Jf o:t cfzosf jsiNks pTt< nvdf

;igwist cefj, c:j:ys< a;faf;, hg;&Vofsf c;dfg Ijt<)f ;fdflhs

Ijsit, jfefj)fdf xf; cflbdio sg rf< c™ cj;<x¢ nvdf

20.jftfj<)flo  ¢kn Idgjt h:t hn Ijbot, ;fozISt h:tf 0O6wgsf
clwstdf kofu, Sni<fkinf<f sfag, ;Nki< SfocS;f0S, sfag dfgfS;f0S
h:tf jJftfj<)flo blitsf)fn xflgsf<s Uof;x¢ sf pT;hgdf sdl Nofpg,
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clws cfboflusls<)fsf Igo6q)f u

;<IHf ug h:tf abfxe nwvi

k™ kf<df

g, Jftf<)flo kbif)f 1gtq)f, jg h3un

21. cfp PGMldaf Ix:MnfOlNst eGg ki~fhfef cyjf |;unf hftst
AofSN<ofst  ;2jid)fsf sf<)fin nflb% egl nvdf................ 1 c®s Ibg
nlf)f

- k™ bvg

- kns ks Ib;f nfug

- Ib;fdf Ikih < Irknf kbfy blvg,

- JiSjfs nfug

- vigf ?lr gxg

- HJ<f cfpg ..o sg rf< nIf)f nvdf ... b0 c2s Ibg
sg 4 aRg pkfox¢, nvdf.......... 2 c®s Ibg

22.s

wdkfg dbokfg
* ;tlhGo kbfysf wjfoSt ;jgnfO |* cNsfxn hGo t<n ko kbfysf

wdkfg elgt% |

o;df Nivotine, Taar, Methane h:tf

xflgsf<s <;fog kfOG%g |

*

bli  ;Dkfbgdf Ijsit NofOlbG% |

* ue gi™ u<fOlbg ;S% |

;Jg dbokfg xf |

o;df Methyl tyf Isopropyl h:tf

<;fog kfOG%g |
tisfn dfgl;s pTthgf NofOlbG% |

bl#sfndf ofg c;Ifdtf NofOlbG% |

Jf, pkoSt leGgtfst nflu

22.v

05 sf b<n 25 c2s Ihg

unufS

<St cNktf

* Kkfif)fdf cfoflSg tTTjsf sdl xbf
nflg g;g <fu xf |

Thyroid uGyl a(< #Mdf aflx<
bIvG% |

*

* afn aflnsf tyf uejtixedf <ftf
<Stsfifx¢g, sdL xg <fu xf |
kinfd, le~fldg B, kiflns cDn
h:tf kfifs tITjsf sdin nfub% |

*
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* unufS a(b hibf Zjf; kzZjf; |* la<fdl kxihf blvG% |
sl&g xG% | * la<fdl ylst blve% |
* Ja<fdl dgfj!flgs ¢ kn Ig<fz
bIvG% |
22.u
HIV AIDS
* HIV sf k<f ¢k Human Immuno | * AIDS sf k<f ¢k  Acquired

defficiency Virus xf |

Immune Difficiency Synodrome xf |

* 0;sf ;ajmd)f ofghGo Ijrofsnfk, | * HIV ;ajmd)fsf kl%Nnf sdhi<
<St k;f)faf™ x6% | cj:yf xf |

* HIV ;jid)f ki% AIDS ;ddsf|* of cj:yfnf0 nDiofpg ;lIsbgg |
cjlw nfdf kfg ;IsG% | * of cj:yfdf w< <fusf nlf)fxe

*  HIVY®  cjiyfdf  <fusf nIf)f bvf kb%g |
bivbgg |

Jf, pkoSt leGgtfsf nflu ..................... 05 sf b/n 25 c2s Ibg

;XL leGgtfsf nflu ... 05 sf b/n 25 c2s Ibg

23. ;1thGo kbfysf ;jg gug, tfcsf < kfnsf wvfg s<f gwvfg, gfeuf
z<l< rsf #fddf nfdf ;do ;Dd gj:g, clws dfgfdf <fef df;sf
kofu gug, w< IrNnf < glgnf wvfgf gvfg, Igoldt :jf:Yo k<LIf)f
u<fpg h:tf abf nvdf ... 5 c®s Ibg |

24 .vig kfglsf cfklt, (n lIgsf;sf Joj:yf, ;fjhlgs :ynsf ;<;kif0,

;fjhlgs rkisf Igdff, c:ktfnsf Joj:yf jf cGo IdNg abf nwvdf

25.gkfn  kiI<jf< Igofhg :8%n yfkgf

dxf;2#sf ;b:otf kfkt ;Datwdf

dftlizz :jf:Yo |1zIff kbfg ug,

Nvdf....coooeveeiinnn,

bDkITENf0 ki<jf< Igofhg

..... 5 ¢c®s Ibg |
Idilt < c6e<flirto kiI<jf< Igofhg
2 c@s Ibg |

;Datwl Iz Iff

kbfg ug ;<llftue ktg u<fpg, IgizNs wvfk jf cGo sg Itg abf
NVvAf ., 3 c@s Ibg |
;dfkt
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